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AM = V62 -32 = V36 -9 = V27 = 3V3 (cm)
~ AB=2xAM =2x3V3=6V3 (cm)




SHA def o]2& A7t ZoB=2 AB = CD
AAOM ©f|4] OM = 4 cm,

AM = \/(4V2)2 - 42 = 4cm
AB=2AM=8cm..CD =AB = 8cm
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(x+4)+7=4+(2x+2) °|t}.
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D)257 cm? @ 2871 cm? @ 327 cm?

@ 367 cm? ® 387 cm?

o)A AH = 4(cm) O|E2 r =
V32 + 42 = 5(cm)

kA, 4 0 9 Hole ax 52 =
257( cm?)
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BE=BD=7-5=2(cm)
AF =AD =7 (cm)
CE=CF=7-4=3(cm)
BC=2+3=5(cm)
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OA =10, AP = 6 °|E& OP =
V102 -62 =8
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ok 2% 2ol AB = BC 2 o5 #4214 ABC 141 BC = 6em
,OM = V3em 9w, ACOB 9] Yol F3tole},
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> HE D 3v3 cm?

AB = 6cm, BM = 3cm, CM

= V369 = V27 = 3V3(cm)
ACMB = 3x 3v3 x 9;/—( m”)

AOMB = 3x V3% 1:%5(%2)
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FE = EG = x(x < 6) 2 st
BE + EC = 10 ©|2& BE = 6 — x ©|T}.
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(6 + x)2 = (6 — x)% + 64, 24x = 64
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Wz o]al, ADEF 9] e]H o]t}
(B = 42°4 o], /,FED 9] a7&
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@ 72° ® 75°

B

AE OF, OD € 1°H
LFOD = 360° - 90° — 90° — 42° = 138°

. L/FED = 138° x % = 69°




